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function moveAllButtons()]
$(“button”).css(“position”, “relative”).animate({
left: “+=10px”

1, 1000);
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function moveAllButtons(pixels, time){
$(“button”).css(“position”, “relative”).animate({
left: “+” +pixels+ "px”

I, time);
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function sum(numberl, number2)

]

var result = numberl+number2;
console.log(result);

|
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function sum(numberl, number2)

]

var result = numberl+number2;
console.log(result);

|

$(“body”).append(“the sum of 3 and 4 is” + sum(3, 4)) // NOT WORKING
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function sum(numberl, number2)

]

var result = numberl+number2;
return result;

i
$(“body”).append(“the sum of 3 and 4 is” + sum(3, 4)) // WORKING
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function sum(numbers)
{
var result = numbers|[0]+numbers[1];
return result;
i

var arr = [[34], [54] [6, 6llmap(sum) /[ arr is [7, 9, 12]
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$("button").click(function()]
$("div").hide("slow", function()}
alert("a5v1");

D;
D;
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var person = {firstName:"John", lastName:"Doe", age:50, eyeColor:"blue"};

® property - D°1°9KRn
e key & value pairs - 2°2731 MInnNon 2w MY
® object literals
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1. personfirstName
2. person] ‘firstName’]
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function person(name, age) |
thisname=name;
this.age=age;

i

var lecturer = new Person(“noam”, 100);

var students = [new Person(“avi”, 30), new Person(“moshe”, 400)];
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